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used as a floor to result variability in risk-weighted assets. 

What is the percentage of the floor? I think probably 60 percent would be too optimistic a 
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We also have to reduce duplication and competition and silos within the group in the 

markets operations. We are integrating commercial banking and securities and sales and 

trading, and in New York and London the dealing room is integrated between commercial 

banking and securities.  

It might take time before we see achievements, but there are business structural reforms 

as well as organizational structural reforms. 

Q H�About the current change in the environment, the environment is much tougher than when 
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reserves as well as prices are being monitored constantly, and the lending base will go up 

and down with it. That's the mechanism, so we thought that we wouldn't be tripped, but 
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States market remains unchanged. Furthermore, regarding the regional banks, we also 

have to respond to regulatory costs, and therefore we have to ensure a certain level of 




